Barse kg 107 FEE BEL BAELRRE

¥ - A% =~ R

S(LIY W1 G2, |
A#ta Rk ¢/Ule LSRR BRRARM @RFER | A RN

TAI18(2) 8 m &

Yty #blu .

2. (20 pts) Find the following integrals.
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e &FpIuEER Mg 2 8 ¥ &3 P4-29 ) 4(1)

WME TEMSzRE 429

x=sind(5F54-6)

P 3 3 I]nxa'x='.‘ (E!f‘%)
EARE

(%]
<iF—»S u=hx: dv=dx

dﬂ=lﬂﬁ V=X
x
.'Eﬁ=xhx—!1dx=xhx—x+c :
GET>% t=tnx Al ¢ =x dt=Ldx — edi=dx * - _IE_?t:jre’dr
x

By u=t ' dv=2'dr
du=dir* v=g
i _Fre‘dr=te' —je'df=fe‘ —¢ +e=x(lnx—1)+e¢ °

* * *
# [nGr+a)v=? a>0 WEY (BEWMEE)
9 u=l(x+a) - dv=dx
du= dx ' ¥=X
x+a
e A —ff1-—2)
o Eat=xlix+a) Ix+a¢r xln(x+a) _[|1 x+a,]dx

=xln{x+ a)—x+a].n|x+a|+c -

W2 1) [xxar= | @ [Bar-o
E AT a




